
Now the big moment: matrix
,
vector

multiplication

22 - 3b + 5 = 3

- a + b + 2 = 5

a(2] + b(i] + c[] = [3]
-

↓

[S]() = [5]

Ax = b

/na
must matha



A couple of perspectives

1) column perspective

2a . ... a] (= +.. xA

"liner combination of coloms ofA, wher

coeficients come from x"

[ii)(i) = [] + =(i) + [] = (3]
2) Row perspective.

A=[x=]



The jth entry of Ax is now j

dotted with X.

(2) [] [ii] = (3)

-



(a-an][ =mmind signal
w/weights
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A ex = [a -.. anJep = Oat + 1ant---oan = ak

(selects kth column)

Avense of colus: At

( +B)x = Ax +Bx

(A)x = c(Ax) = A(xx)
about as nice
as can be !

A(x+y) = Ax+ Ay

-
we can associate with it a map IR-MM

X +-Ax



Things youan represent :

all the above examples

assets-> revere per month formants

signal-> discrete deivative

cocffs -> polycaral evaluated at points
vector

Heres some more

-> itself (I)

[8][] = [=]
↑

permutation
nowi row ;

matrck if column is ej


